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Template methoc

abstract class DiscountPolicy {
private Set<DiscountCondition> conditions = new HashSet<>();
public void addCondition(DiscountCondition condition){conditions.add(condition);}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:conditions){
if(condition.isSatisfiedBy(screening, count)) return calculateFee(fee);

}

return fee;

}

protected abstract Money calculateFee(Money fee);



Template methoc

abstract class DiscountPolicy {
private Set<DiscountCondition> conditions = new HashSet<>();
public void addCondition(DiscountCondition condition){conditions.add(condition);}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:conditions){
if(condition.isSatisfiedBy(screening, count)) return|calculateFee(fee);

}

return fee;

b

protected abstract Money calculateFee(Money fee);







Strateqy

public class DiscountPolicy {
private final Set<DiscountCondition> conditions = new HashSet<>();
private final Calculator calculator;
public DiscountPolicy(Calculator calculator){this.calculator = calculator;}
public void addCondition(DiscountCondition condition){conditions.add(condition);}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:conditions){
if(condition.isSatisfiedBy(screening, count)) return calculator.calculateFee(fee);

}

return fee;



Strateqy

public class DiscountPolicy {
private final Set<DiscountCondition> conditions = new HashSet<>();
|private final Calculator calculatory;
public DiscountPolicy(Calculator calculator){this.calculator = calculator;}
public void addCondition(DiscountCondition condition){conditions.add(condition);}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:conditions){

if(condition.isSatisfiedBy(screening, count)) return|calculator.calculateFee(fee);

}

return fee;









Strateqy

public class AmountCalculator [implements Calculatord public class AmountPolicy |extends DiscountPolicyA

private final Money amount; private final Money amount;

public AmountCalculator(Money amount){ public AmountPolicy(Money amount){
this.amount = amount; this.amount = amount;

} }

@verride @verride

public Money calculateFee(Money fee) { public Money calculateFee(Money fee) {
return fee.minus(amount); return fee.minus(amount);

} }



private final Money amount;

public AmountCalculator(Money amount){
this.amount = amount;

}

@verride

public Money calculateFee(Money fee) {
return fee.minus(amount);

}

Strateqy

public class AmountCalculator |implements Calculator{

public Class Amoun+Dn15ru|nv+nndc n{crnun+P01icy{

private final DiscountPolicy

public AmountroLlcy(MOneyAamount){
this.amount = amount;

}

@verride

public Money calculateFeefMoney fee) {
return fee.minus(amoult);

} AmountDiscountPolicy




Strateqy

public class AmountCalculator |implements Calculator{ public class Amoun+Dn1*f"|°v+°nd° NicrauntPoljcy
private final Money amount; private final
public AmountCalculator(Money amount){ public AmountroLlcy(Money~“amount){
this.amount = amount; this.amount = amount;
} }
@verride @verride
public Money calculateFee(Money fee) { public Money calculateFeetMoney fee) {
return fee.minus(amount); return fee.minus(amouit);

: } : b AmountDiscountPolicy



Strateqy

Ammm+(‘:\1 riilatnr | Ca]_cu]_ator{ Amoun+Dn'I 1r\v | Nicrniint
AmountLalcuLatof(Money amount){ AmountroLicy(Money amount)y
. = amou‘t . = amount
} cul }
@verride @verride
Money calculatdlsee(Money fee) { Money calculateFeetMoney fee) {

fee.minus( ) fee.minus( )

} AmountCalculator ) } AmountDiscountPolicy

Policy4
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Injection

public class DiscountPolicy {
private final Set<DiscountCondition> conditions = new HashSet<>();
private final Calculator calculator;
public DiscountPolicy[(Calculator calculator){this.calculator = calculator;}
public void addCondition(DiscountCondition condition){conditions.add(condition);}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:conditions){
if(condition.isSatisfiedBy(screening, count)) return calculator.calculateFee(fee);

}

return fee;



Injection

public class DiscountPolicy {
private final Set<DiscountCondition> conditions = new HashSet<>();
private final Calculator calculator;
public DiscountPolicy[(Calculator calculator){this.calculator = calculator;}
public void addCondition(DiscourftCondition condition){conditions.add(condition);}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condifion:conditions){
if(condition.isSatisfiefiBy(screening, count)) return calculator.calculateFee(fee);

}
return fee; pushed






-actory

public interface CalculatorFactory {
Calculator getCalculator();

}

public class AmountCalculatorFactory implements CalculatorFactory {
private final Money money;
private AmountCalculator cache;
public AmountCalculatorFactory(Money money){this.money = money;}
@verride
synchronized public Calculator getCalculator(){
if(cache == null) cache = new AmountCalculator(money);
return cache;



Lazy Pull

public class DiscountPolicy {
private final Set<DiscountCondition> conditions = new HashSet<>();
private final CalculatorFactory supplier;
public DiscountPolicy(CalculatorFactory supplier){this.supplier = supplier;}
public void addCondition(DiscountCondition condition){conditions.add(condition);}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:conditions){
if(condition.isSatisfiedBy(screening, count)){
return supplier.getCalculator().calculateFee(fee);

}
}

return fee;



Lazy Pull

public class DiscountPolicy {
private final Set<DiscountCondition> conditions = new HashSet<>();
private final CalculatorFactory supplier; Factory pushed
public DiscountPolickaalculatorFactory supplier){EﬁTETEG;;IEer = supplier;}
public void addCondition(DiscountCondition condition){conditions.add(condition);}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:conditions){
if(condition.isSatisfiedBy(screening, count)){
return supplier.getCalculator().calculateFee(fee);

}
}

return fee;



Lazy Pull

public class DiscountPolicy {

private final Set<DiscountCondition> conditions = new HashSet<>();

private final CalculatorFactory supplier;

Factory pushed
public DiscountPolickaalculatorFactory supplier){EﬁTETEG;;IEer = supplier;}

public void addCondition(DiscountCondition condition){conditions.add(condition);}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:conditions){

if(condition.isSatisfiedBy(screenin

, count)){

return |supplier.getCalculator()

.calculateFee(fee);

}

y \Lazy pulled

return fee;



Lazy Pull

public class DiscountPolicy {

private final Set<DiscountCondition> conditions = new HashSet<>();

private final CalculatorFactory supplier;

Factory pushed
public DiscountPolickaalculatorFactory supplier){EﬁTETEG;;IEer = supplier;}

public void addCondition(DiscountCondition condition){conditions.add(condition);}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:conditions){

if(condition.isSatisfiedBy(screenin

, count)){

return |supplier.getCalculator()

.calculateFee(fee);

}

y \Lazy pulled

return fee;



Lazy Pull

public class DiscountPolicy {
private final Set<DiscountCondition> conditions = new HashSet<>();
private final CalculatorFactory supplier; Factory pushed
public DiscountPolickaalculatorFactory supplier){RﬁTE-EG;;IZer = supplier;}
public void addCondition(DiscountCondition condition){conditions.add(condition);}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:conditions){
if(condition.isSatisfiedBy(screening, count)){
return |supplier.getCalculator()fcalculateFee(fee);

: } \Lazy oulled 1. factory@} calculatorZ €4

return fee;

! 2. factory2t &7



Lazy Pull

public class DiscountPolicy {
private final Set<DiscountCondition> conditions = new HashSet<>();
private final CalculatorFactory supplier; Factory pushed
public DiscountPolicy|(CalculatorFactory supplier){RﬂTE—EG;;TZer = supplier;}
—oblo o o o dde oA Hian D scountCondition condition){conditions.add(condition);}
».(Ffreening screening, int count, Money fee){
tfor(DisdountCondition conditi®easconditions){
if(‘Jnditiqn.isSatisfiedBy(screeni:;, count)){

CalculatorFactory Le—“’% Calculator 5
} t —~Ldzy [AIIEU

return

OFOF
AmountCalculatorFactory By 4 AmountCalculator Z.factory._f E}”
}

1. factory®t calculatorg &4



Lazy Pull

public class DiscountPolicy {
private final Set<DiscountCondition> conditions = new HashSet<>();
private final CalculatorFactory supplier; Factory pushed
public DiscountPolicy|(CalculatorFactory supplier){EﬂTE—;;;;T;er = supplier;}
—oblo o o o dde oA Hian D scountCondition condition){conditions.add(condition);}
3(Screening screening, int count, Money fee){
tfor(DisdountCondition condition:conditions){
if(‘Jnditiqn.isSatisfiedBy(screening, count)){

CalculatorFactory LEL:EE;EEEE Calculator 5
} t —~Ldzy [AIIEU

return

Ofof
AmountCalculatorFactory By 4 AmountCalculator Z.factory._ E}”
}

1. factory®t calculatorg 4|
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public interface CalculatorFactory {
Money calculateFee(Money fee);

}

public class AmountCalculatorFactory implements CalculatorFactory {
private final Money money;
private AmountCalculator cache;
public AmountCalculatorFactory(Money money){this.money = money;}
synchronized private Calculator getCalculator(){
if(cache == null) cache = new AmountCalculator(money);
return cache;
¥
@verride
public Money calculateFee(Money fee){return getCalculator().calculateFee(fee);}
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public class DiscountPolicy {

private final Set<DiscountCondition> conditions = new HashSet<>();

private final CalculatorFactory supplier;

public DiscountPolicy(CalculatorFactory supplier){this.supplier = supplier;}

public void addCondition(DiscountCondition condition){conditions.add(condition);}

public Money calculateFee(Screening screening, int count, Money fee){

for(DiscountCondition condition:conditions){
if(condition.isSatisfiedBy(screening, count)){
return supplier.calculateFee(fee);

}
}

return fee;
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public class DiscountPolicy {
private final Set<DiscountCondition> conditions = new HashSet<>();
private final CalculatorFactory supplier;
public DiscountPolicy(CalculatorFactory supplier){this.supplier = supplier;}
public void addCondition(DiscountCondition condition){conditions.add(condition);}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:conditions){
if(condition.isSatisfiedBy(screening, count)){
return|supplier.calculateFee(fee);

! ! Calculator?

return fee;
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pubtic-interface CalculatorFactory {

Money calculateree(Mcrey fee);
}

public class AmountCalculatorFactory implements Calculatorractory
private final Money money;
private AmountCalculator cache;
public AmountCalculatorFactory(Money money){this.money = money;}
synchronized private Calculator getCalculator(){
if(cache == null) cache = new AmountCalculator(money);
return cache;
I
@verride
public Money calculateFee(Money fee){return getCalculator().calculateFee(fee);}



O|OI5| IIH EL‘
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public class DiscountPolicy {

private final Set<DiscountCondition> conditions = new HashSet<>();

private final Calculatorfactory supplier;

public DiscountPolicy(CalculatorfFactory supplier){this.supplier = supplier;}

public void addCondition(DiscountCondition condition){conditions.add(condition);}

public Money calculateFee(Screening screening, int count, Money fee){

for(DiscountCondition condition:conditions){
if(condition.isSatisfiedBy(screening, count)){
return supplier.calculateFee(fee);

}
}

return fee;



Ol0|=| IH E 7

public class DiscountPolicy {

private final Set<DiscountCondition> = new HashSet<>();

private final Calculatorvactory ;

public DiscountPolicy(Calculatorfactory supplier){this. = supplier;}

—ble o o o dde A b an (D scountCondition condition){ .add(condition);}
E”SCOLHTUDO“Cy 3(Screening screening, int count, Money fee){
for(DiscountCondition condition: )

if(vondition.isSatisfiedBy(screening, count)){

CalculatorfFactory M Calculator

. 4 t
return fee;
AmountCalculatorFactory B 4 AmountCalculator
}
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public class DiscountPolicy {
private final Set<DiscountCondition> conditions = new HashSet<>();
private final Calculatorractory supplier;
public DiscountPolicy(CalculatorfFactory supplier){this.supplier = supplier;}
—oblo o o o dde oA Hian D scountCondition condition){conditions.add(condition);}
[NSCOL”TUDO“CY 3(Screening screening, int count, Money fee){

tfor(DisdountCondition condition:conditions){
if(¢andition.isSatisfiedBy(screening, count)){

Calculator Ler.calculateFee(fee);

.
return
AmountCalculatorFactory B 4 AmountCalculator







DiscountCondition &

public class DiscountPolicy {

o ‘ b Y . TR . WL B o D [ T A+ — |
private Tinat Setsrscountlonditions—eonditions——=—new-HashSat 0

private final Calculator factory;
publlc DiscountPolicy(Calculator factory){this.factory = factory;}

T B V. D I Y 4 . Y A+ Al + \ S A1+
pUULIC VOid auuconuitionibiscountionditien—condition)fconditions.addlcondition);}

public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:conditions){
if(condition.isSatisfiedBy(screening, count)){
return factory.calculateFee(fee);

}
}

return fee;



DiscountCondition &

public class DiscountPolicy {
private final PolicyFactory factory;
public DiscountPolicy(PolicyFactory factory){this.factory = factory;}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition conditionjfactory.getConditions()){
if(condition.isSatisfiedBy(screening, count)) return factory.calculateFee(fee)k

}

return fee;



DiscountCondition &

public class DiscountPolicy {
private final|PolicyFactory| factory;
public DiscountPolicy(PolicyFactory factory){this.factory = factory;}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:factory.getConditions()){
1f(condition.isSatisfiedBy(screening, count)) return factory.calculateFee(fee);

}

return fee;



DiscountCondition &

public interface PolicyFactory extends Calculator{
Set<DiscountCondition> getConditions();

}

public class AmountCalculatorFactory implements PolicyFactory{
private final Money money;
private AmountCalculator cache;
private final Set<DiscountCondition> conditions = new HashSet<>();
public AmountCalculatorFactory(Money money){this.money = money;}
synchronized private Calculator getCalculator(){
1f(cache == null) cache = new AmountCalculator(money);
return cache;
}
public void addCondition(DiscountCondition condition){conditions.add(condition);}
public void removeCondition(DiscountCondition condition){conditions.remove(condition);}
@verride public Money calculateFee(Money fee){return getCalculator().calculateFee(fee);}
@verride public Set<DiscountCondition> getConditions(){return conditions;}






DiscountCondition &

public class DiscountPolicy {
private final PolicyFactory factory;
public DiscountPolicy(PolicyFactory factory){this.factory = factory;}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:factory.getConditions()){
1f(condition.isSatisfiedBy(screening, count)) return factory.calculateFee(fee);

}

return fee;



DiscountCondition &

public class DiscountPolicy {
private final PolicyFactory factory;
public DiscountPolicy(PolicyFactory factory){this.factory = factory;}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition|condition:factory.getConditions()){
1f(condition.isSatisfiedBy(screening, count)) return factory.calculateFee(fee);

}

return fee;

! factory2t &



public class DiscountPolicy {

private final PolicyFactory factory;

DiscountCondition &

public DiscountPolicy(PolicyFactory factory){this.factory = factory;}
public Money calculateFee(Screening screening, int count, Money fee){

for(DiscountCondition

condition:

factory.getConditions()){

1f(condition.isSatisfiedBy(screening, count)) return factory.calculateFee(fee);

}

return fee;

factory@t A O] 244|0f| Chet 2l A4S Y



DiscountCondition &

public class DiscountPolicy {
private final PolicyFactory factory;
public DiscountPolicy(PolicyFactory factory){this.factory = factory;}
public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:factory.getConditions())
1f(condition.isSatisfiedBy(screening, count)) return| factory.calculateFee(fee);

}

return fee;







DiscountCondition &

public interface PolicyFactory extends Calculator{
default Money calculateFee(Screening screening, int count, Money fee) {
for(DiscountCondition condition:getConditions()){
if(condition.isSatisfiedBy(screening, count)) return calculateFee(fee);

}

return fee;

}

Set<DiscountCondition> getConditions();

}

public class DiscountPolicy {
private final PolicyFactory factory;
public DiscountPolicy(PolicyFactory factory){this.factory = factory;}
public Money calculateFee(Screening screening, int count, Money fee){
return factory.calculateFee(screening, count, fee);

}



